1 Scenario for the QBased test cases
Information in shaded grey comes from the prose in TS 36.523-1 and TS 36.508.

1.1 E-UTRA only test cases
1.1.1 Test case 6.1.2.2a: Cell selection / Qqualmin
Preamble:

-
The UE is in state Switched OFF (state 1) according to [18].

	
	Parameter
	Unit
	Cell 1
	Remark

	T1
	Frequency
	
	f1
	

	
	Cell-specific RS EPRE
	dBm/15kHz
	-75
	The power level value is such to satisfy SrxlevCell 1 > 0 and SqualCell 1 < 0 but the UE is able to read the PLMN identity

	
	RSRQ
	dB
	[-25]
	

	
	Qrxlevmin
	dBm
	-84
	

	
	Qrxlevminoffset
	dB
	0
	

	
	Qqualmin
	dB
	[-20]
	

	
	Qqualminoffset
	dB
	0
	

	
	Pcompensation
	dB
	0
	

	
	Srxlev
	dB
	9
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

Srxlev cell1 =  -75 –(-84 + 0)-0 = 9

	
	Squal
	dB
	-5
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

Squal = -25 –(-20+0) = -5

	
	Noc  
	dBm/15kHz
	?
	

	The UE does not consider cell1 suitable and does not camp on it


	
	Parameter
	Unit
	Cell 1
	Remark

	T2
	Cell-specific RS EPRE
	dBm/15kHz
	-75
	The power level is such that SrxlevCell 1 > 0 and SqualCell 1 > 0

	
	RSRQ
	dB
	[-5]
	

	
	Srxlev
	dB
	9
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

Srxlev cell1 =  -75 –(-84 + 0)-0 = 9

	
	Squal
	dB
	15
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

Squal = -5 –(-20+0) = 15

	
	Noc  
	dBm/15kHz
	?
	

	The UE considers cell1 suitable and camps on it
=> UE selects cell1 


FFS> The current prose require to change the Noc during the test execution. 
1.1.2 Test case 6.1.2.3a: Cell selection / Intra E-UTRAN / Serving cell becomes non-suitable (Srxlev > 0 and Squal < 0)
Preamble:

· UE is in state Registered, Idle Mode (state 2) on Cell 1(serving cell) according to [18].
	
	Parameter
	Unit
	Cell 1
	Cell 2
	Remark

	Preamble
	Frequency
	
	f1
	f1
	

	
	Cell-specific RS EPRE
	dBm/15kHz
	-91
	Off
	

	
	RSRQ
	dB
	[-25]
	[-10]
	

	
	Qrxlevmin
	dBm
	-106
	-92
	

	
	Qrxlevminoffset
	dB
	0
	0
	

	
	Qqualmin
	dB
	[-20]
	[-20]
	

	
	Qqualminoffset
	dB
	0
	0
	

	
	Pcompensation
	dB
	0
	0
	

	
	Srxlev*
	dB
	15
	NA
	Cell 2 is suitable cell

	
	Squal
	dB
	-5
	NA
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	Off
	Off
	

	=> UE selects cell1


	
	Parameter
	Unit
	Cell 1
	Cell 2
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-91
	-85
	SrxlevCell 1 > 0 and SqualCell 1 < 0

	
	RSRQ
	dB
	[-25]
	[-10]
	

	
	Qrxlevmin
	dBm
	-106
	-92
	

	
	Qrxlevminoffset
	dB
	0
	0
	

	
	Qqualmin
	dB
	[-20]
	[-20]
	

	
	Qqualminoffset
	dB
	0
	0
	

	
	Pcompensation
	dB
	0
	0
	

	
	Srxlev*
	dB
	15
	7
	Cell 2 is suitable cell

	
	Squal
	dB
	-5
	10
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	?
	?
	

	SrxlevCell 1 > 0 and SqualCell 1 < 0

SrxlevCell 2 > 0 and SqualCell 2 > 0
=> UE selects cell2


1.1.3 Test case 6.1.2.17
Cell reselection for Squal to check against SIntraSearchQ and SnonIntraSearchQ
Preamble:

· The UE is in state Registered, Idle mode (state 2) on Cell 1(serving cell) according to [18].
	
	Parameter
	Unit
	Cell 1
	Cell 2
	Cell 3
	Remark

	Preamble
	Frequency
	
	f1
	f1
	f2
	

	
	Cell-specific RS EPRE
	dBm/15kHz
	-91
	Off
	Off
	

	
	RSRQ
	dB
	[-14]
	[-6]
	[-25]
	

	
	Qrxlevmin 
	dBm
	-106
	-106
	-106
	

	
	Qqualmin
	dB
	[-20]
	[-20]
	[-20]
	

	
	SIntraSearchQ
	dB
	[10]
	[10]
	[10]
	

	
	Srxlev
	dB
	15
	NA
	NA
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	6
	NA
	NA
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	Off
	Off
	Off
	

	=> UE selects cell1


	
	Parameter
	Unit
	Cell 1
	Cell 2
	Cell 3
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-91
	-85
	-115
	Squal of Cell 1 is less than SIntraSearchQ.

	
	RSRQ
	dB
	[-14]
	[-6]
	[-25]
	

	
	Qrxlevmin 
	dBm
	-106
	-106
	-106
	

	
	Qqualmin
	dB
	[-20]
	[-20]
	[-20]
	

	
	SIntraSearchQ
	dB
	[10]
	[10]
	[10]
	

	
	Srxlev
	dB
	15
	21
	-9
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	6
	14
	-5
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	?
	?
	-90
	

	UE perform measurement and reselects the highest ranked cell upon Squal < SIntraSearchQ

=> UE reselects cell2


	
	Parameter
	Unit
	Cell 1
	Cell 2
	Cell 3
	Remark

	T2
	Cell-specific RS EPRE
	dBm/15kHz
	-115
	-91
	-85
	Squal of Cell 2 is less than SnonIntraSearchQ.

	
	RSRQ
	dB
	[-25]
	[-16]
	[-6]
	

	
	SnonIntraSearchQ
	dB
	[8]
	[8]
	[8]
	

	
	Srxlev
	dB
	-9
	15
	21
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	-5
	4
	14
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	?
	?
	?
	

	UE perform measurement and reselects cell3 which belong to the equal priority frequency cell upon Squal < SnonIntraSearchQ
=> UE reselects cell3


	
	Parameter
	Unit
	Cell 1
	Cell 2
	Cell 3
	Remark

	T3
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	-115
	-85
	Squal of Cell 3 is greater than SnonIntraSearchQ but Cell 1 is high priority cell.

	
	RSRQ
	dB
	[-6]
	[-25]
	[-6]
	

	
	Srxlev
	dB
	21
	-9
	21
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	14
	-5
	14
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	?
	?
	?
	

	UE perform measurement and reselects cell1 which belong to the high priority frequency cell upon Squal > SnonIntraSearchQ
=> UE reselects cell1


1.1.4 Test case 6.1.2.18 Inter-frequency cell reselection based on common priority information with parameters ThreshX, HighQ, ThreshX, LowQ and ThreshServing, LowQ
Preamble:

· The UE is in state Registered, Idle mode (state 2) on Cell 1 (serving cell) according to [18].
	
	Parameter
	Unit
	Cell 1
	Cell 3
	Remark

	Preamble
	Frequency
	
	f1
	f2
	

	
	Cell-specific RS EPRE
	dBm/

15kHz
	-85
	off
	

	
	RSRQ
	dB
	[-10]
	[-5]
	

	
	Qqualmin
	dB
	[-20]
	[-20]
	

	
	Qrxlevmin
	dBm
	-100
	-100
	

	
	Srxlev
	dB
	15
	NA
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	10
	NA
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	Off
	Off
	

	=> UE selects cell1


	
	Parameter
	Unit
	Cell 1
	Cell 3
	Remark

	T1
	Cell-specific RS EPRE
	dBm/

15kHz
	-85
	-85
	The power level values are assigned to satisfy SrxlevCell 1 > 0, SrxlevCell 3 < ThreshCell 3, highP, SqualCell 1 > 0 and SqualCell 3 > ThreshCell 3, highQ.

	
	RSRQ
	dB
	[-10]
	[-5]
	

	
	Qqualmin
	dB
	[-20]
	[-20]
	

	
	Qrxlevmin
	dBm
	-100
	-100
	

	
	Srxlev
	dB
	15
	15
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	10
	15
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	?
	?
	

	=> UE reselects cell3


	
	Parameter
	Unit
	Cell 1
	Cell 3
	Remark

	T2
	Cell-specific RS EPRE
	dBm/

15kHz
	-85
	-91
	The power level values are assigned to satisfy SrxlevCell 3 > Threshserving, lowP, SqualCell 3 < Threshserving, lowQ and SqualCell 1 > ThreshCell 1, lowQ.

	
	RSRQ
	dB
	[-5]
	[-15]
	

	
	Srxlev
	dB
	15
	9
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	15
	5
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	?
	?
	

	=> UE reselects cell1


1.1.5 Test case 8.3.1.3a
Measurement configuration control and reporting / Intra E-UTRAN measurements / Two simultaneous events A3 (intra and inter-frequency measurements) / RSRQ based measurements

Preamble:

-
The UE is in state Generic RB Established (state 3) on Cell 1 according to [18].

	
	Parameter
	Unit
	Cell 1
	Cell 2
(DL only)
	Cell 3

(DL only)
	Remark

	Preamble
	frequency
	
	f1
	f1
	f2
	

	
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	Off
	"Off"
	

	
	RSRQ
	dB
	[-10]
	[-20]
	-
	

	
	Qqualmin
	dB
	[-20]
	[-20]
	[-20]
	

	
	Qrxlevmin
	dBm
	-106
	-106
	-106
	

	
	Srxlev
	dB
	21
	NA
	NA
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	10
	NA
	NA
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	Off
	Off
	Off
	

	=> UE selects cell1


	
	Parameter
	Unit
	Cell 1
	Cell 2
(DL only)
	Cell 3

(DL only)
	Remark

	T0
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	-91
	"Off"
	Power levels are such that entry condition for event A3 (measId 1 & 2) is not satisfied:
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	RSRQ
	dB
	[-10]
	[-20]
	-
	

	
	Srxlev
	dB
	21
	15
	NA
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	10
	0
	NA
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	
	
	
	

	UE does not measure cell2


	
	Parameter
	Unit
	Cell 1
	Cell 2
(DL only)
	Cell 3

(DL only)
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	-91
	"Off"
	Power levels are such that entry condition for event A3 (measId 1) is satisfied:
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	RSRQ
	dB
	[-20]
	[-10]
	-
	

	
	Srxlev
	dB
	21
	15
	NA
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	0
	10
	NA
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	
	
	
	

	UE measures cell2


FFS> The current prose require to change the Noc during the test execution. 
	
	Parameter
	Unit
	Cell 1
	Cell 2
(DL only)
	Cell 3

(DL only)
	Remark

	T2
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	"Off"
	-97
	Power levels are such that entry condition for event A3 (measId 2) is satisfied:
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	RSRQ
	dB
	[-20]
	-
	[-10]
	

	
	Srxlev
	dB
	21
	NA
	9
	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation

	
	Squal
	dB
	0
	NA
	10
	Squal = Qqualmeas – (Qqualmin + Qqualminoffset)

	
	Noc
	dBm/15kHz
	
	
	
	

	UE measures cell3


1.2 I-RAT E-UTRA/UTRAN test cases

1.2.1 Test case 6.2.3.3a
Inter-RAT cell reselection / From UTRA_Idle to E-UTRA RRC_IDLE (QqualminEUTRA, SqualServingCell < Threshserving,low2, SqualnonServingCell,x > Threshx, low2 and SqualnonServingCell,x > Threshx, high2)
Preamble:

· The UE is in state Registered, Idle mode (state 2) on Cell 5 (serving cell) according to [5].
	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	Preamble
	Cell-specific RS EPRE
	dBm/15kHz
	Off
	

	
	RSRQ
	dB
	-5
	

	
	Qqualmin
	dB
	[-20]
	

	
	Srxlev
	dB
	NA
	

	
	Squal
	dB
	NA
	

	
	Noc
	dBm/15kHz
	Off
	

	UTRA
	Parameter
	Unit
	Cell 8
	Remark

	Preamble
	CPICH_Ec
	dBm/3.84 MHz
	-70
	

	
	P-CCPCH
	dBm/1.28 MHz
	-72
	

	
	CPICH_Ec/Io
	dB
	-25
	

	
	QqualminFDD
	dB
	[-20]
	

	
	Ioc
	dBm/3.84MHz
	Off
	


FFS> cell1 is on f1(Mid) cell5 is defined on f8(Mid), we shall replace cell5 by cell8 on f6(High) to avoid interferences in E-UTRA/UTRA overlapped bands?
	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	Squal nonServingCell, Cell1 > Thresh Cell1,low2

	
	RSRQ
	dB
	-5
	

	
	Qqualmin
	dB
	[-20]
	

	
	Srxlev
	dB
	21
	

	
	Squal
	dB
	15
	

	
	Noc
	dBm/15kHz
	?
	

	UTRA
	Parameter
	Unit
	Cell8
	Remark

	T1
	CPICH_Ec
	dBm/3.84 MHz
	-70
	SqualServingCell < ThreshServing,low2

	
	P-CCPCH
	dBm/1.28 MHz
	-72
	

	
	CPICH_Ec/Io
	dB
	-25
	

	
	QqualminFDD
	dB
	[-20]
	

	
	Ioc
	dBm/3.84MHz
	-45
	


	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	T2
	Cell-specific RS EPRE
	dBm/15kHz
	-115
	

	
	RSRQ
	dB
	-25
	

	
	Srxlev
	dB
	-9
	

	
	Squal
	dB
	-5
	

	
	Noc
	dBm/15kHz
	?
	

	UTRA
	Parameter
	Unit
	Cell 8
	Remark

	T2
	CPICH_Ec
	dBm/3.84 MHz
	-60
	

	
	P-CCPCH
	dBm/1.28 MHz
	-62
	

	
	CPICH_Ec/Io
	dB
	-15
	

	
	Ioc
	dBm/3.84MHz
	-45
	


	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	T3
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	

	
	RSRQ
	dB
	-5
	S nonServingCell, Cell1 > Thresh Cell1,high2

	
	Srxlev
	dB
	21
	

	
	Squal
	dB
	15
	

	
	Noc
	dBm/15kHz
	?
	

	UTRA
	Parameter
	Unit
	Cell 8
	Remark

	T3
	CPICH_Ec
	dBm/3.84 MHz
	-70
	

	
	P-CCPCH
	dBm/1.28 MHz
	-72
	

	
	CPICH_Ec/Io
	dB
	-25
	

	
	Ioc
	dBm/3.84MHz
	45
	

	
	
	
	
	


1.2.2 Test case 6.2.3.5a 
Inter-RAT cell reselection / From E-UTRA RRC_IDLE to UTRA_Idle (Squal > ThreshX, HighQ, Squal < ThreshServing, LowQ, Squal > ThreshX, LowQ and SnonIntraSearchQ)
Preamble:

-
The UE is in state Registered, Idle mode (state 2) on Cell 1 (serving cell) according to [18].

	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	Preamble
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	Squal ServingCell, Cell1 < ThreshServing, LowQ

	
	RSRQ
	dB
	-25
	

	
	Qqualmin
	dB
	[-20]
	

	
	Srxlev
	dB
	21
	

	
	Squal
	dB
	-5
	

	
	Noc
	dBm/15kHz
	Off
	

	UTRA
	Parameter
	Unit
	Cell 8
	Remark

	Preamble
	CPICH_Ec
	dBm/3.84 MHz
	Off
	SqualnonServingCell, Cell 5 > ThreshCell 5, LowQ

	
	P-CCPCH
	dBm/1.28 MHz
	-62
	

	
	CPICH_Ec/Io
	dB
	-5
	

	
	QqualminFDD
	dB
	[-20]
	

	
	Ioc
	dBm/3.84MHz
	?
	


FFS> cell1 is on f1(Mid) cell5 is defined on f8(Mid), we shall replace cell5 by cell8 on f6(High) to avoid interferences in E-UTRA/UTRA overlapped bands?

	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	Squal ServingCell, Cell1 < ThreshServing, LowQ

	
	RSRQ
	dB
	-25
	

	
	Qqualmin
	dB
	[-20]
	

	
	Srxlev
	dB
	21
	

	
	Squal
	dB
	-5
	

	
	Noc
	dBm/15kHz
	?
	

	UTRA
	Parameter
	Unit
	Cell 8
	Remark

	T1
	CPICH_Ec
	dBm/3.84 MHz
	-60
	

	
	P-CCPCH
	dBm/1.28 MHz
	-62
	

	
	CPICH_Ec/Io
	dB
	-5
	

	
	QqualminFDD
	dB
	[-20]
	

	
	Ioc
	dBm/3.84MHz
	?
	


	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	T2
	Cell-specific RS EPRE
	dBm/15kHz
	-80
	

	
	RSRQ
	dB
	-10
	

	
	Srxlev
	dB
	26
	

	
	Squal
	dB
	10
	

	
	Noc
	dBm/15kHz
	?
	

	UTRA
	Parameter
	Unit
	Cell 8
	Remark

	T2
	CPICH_Ec
	dBm/3.84 MHz
	-90
	

	
	P-CCPCH
	dBm/1.28 MHz
	-92
	

	
	CPICH_Ec/Io
	dB
	-25
	

	
	Ioc
	dBm/3.84MHz
	?
	


	E-UTRA
	Parameter
	Unit
	Cell 1
	Remark

	T3
	Cell-specific RS EPRE
	dBm/15kHz
	-85
	

	
	RSRQ
	dB
	-10
	

	
	Srxlev
	dB
	26
	

	
	Squal
	dB
	10
	

	
	Noc
	dBm/15kHz
	?
	

	UTRA
	Parameter
	Unit
	Cell 8
	Remark

	T3
	CPICH_Ec
	dBm/3.84 MHz
	-70
	

	
	P-CCPCH
	dBm/1.28 MHz
	-72
	

	
	CPICH_Ec/Io
	dB
	-5
	

	
	Ioc
	dBm/3.84MHz
	?
	


FFS> The current prose require to change the Noc during the test execution. 
1.2.3 Test case 6.2.3.33
Inter-RAT cell reselection / From E-UTRA RRC_IDLE to UTRA_Idle / Squal based cell reselection parameters are broadcasted in E-UTRAN / UE does not support Squal based cell reselection in UTRAN
Preamble:

-
The UE is in state Registered, Idle mode (state 2) on Cell 1 according to [18].

	
	Parameter
	Unit
	Cell 1
	Cell 8
	Remark

	Preambl

e
	Cell-specific RS EPRE
	dBm/15kHz
	-97
	-
	

	
	RSRQ
	dB
	[-10]
	-
	

	
	Srxlev
	dB
	9
	
	

	
	Squal
	dB
	10
	
	

	
	Noc
	dBm/15kHz
	Off
	
	

	
	CPICH_Ec
	dBm/3.84 MHz
	-
	Off
	

	
	CPICH_Ec/Io
	dB
	-
	-
	

	
	Ioc
	dBm/3.84MHz
	-
	?
	


FFS> cell1 is on f1(Mid) cell5 is defined on f8(Mid), we shall replace cell5 by cell8 on f6(High) to avoid interferences in E-UTRA/UTRA overlapped bands?

	
	Parameter
	Unit
	Cell 1
	Cell 8
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-97
	-
	The power level value is assigned to satisfy SrxlevCell 1 < ThreshServing, LowP 

	
	RSRQ
	dB
	[-10]
	-
	

	
	Srxlev
	dB
	9
	
	

	
	Squal
	dB
	10
	
	

	
	Noc
	dBm/15kHz
	?
	
	

	
	CPICH_Ec
	dBm/3.84 MHz
	-
	-65
	The power level value is assigned to satisfy SrxlevCell 5 > Threshx, LowP 

	
	CPICH_Ec/Io
	dB
	-
	[-24]
	

	
	Ioc
	dBm/3.84MHz
	-
	?
	


1.2.4 Test case 8.3.2.3a
Measurement configuration control and reporting / Inter-RAT measurements / Event B2 / Measurement of UTRAN cells / RSRQ based measurements
Preamble:

· The UE is in state Generic RB Established (state 3) on Cell 1 according to [18].
	
	Parameter
	Unit
	Cell 1
	Cell 8
	Remark

	Preambl

e
	Cell-specific RS EPRE
	dBm/15kHz
	-60
	-
	

	
	RSRQ
	dB
	[-5]
	-
	

	
	Srxlev
	dB
	55
	-
	

	
	Squal
	dB
	15
	-
	

	
	Noc
	dBm/15kHz
	Off
	-
	

	
	CPICH Ec
	dBm/3.84MHz
	-
	Off
	

	
	CPICH_Ec/Io (Note 1)
	dB
	-
	-
	

	
	Ioc
	dBm/3.84MHz
	-
	?
	

	
	
	
	
	
	


FFS> cell1 is on f1(Mid) cell7 is defined on f8(Mid), we shall replace cell5 by cell8 on f6(High) to avoid interferences in E-UTRA/UTRA overlapped bands?

	
	Parameter
	Unit
	Cell 1
	Cell 8
	Remark

	T0
	Cell-specific RS EPRE
	dBm/15kHz
	-60
	-
	The power level values are assigned such that entering conditions for event B2 are not satisfied.

	
	RSRQ
	dB
	[-5]
	-
	

	
	Srxlev
	dB
	55
	-
	

	
	Squal
	dB
	15
	-
	

	
	Noc
	dBm/15kHz
	?
	-
	

	
	CPICH Ec
	dBm/3.84MHz
	-
	-83.5
	

	
	CPICH_Ec/Io (Note 1)
	dB
	-
	-23.5
	

	
	Ioc
	dBm/3.84MHz
	-
	?
	


	
	Parameter
	Unit
	Cell 1
	Cell 8
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-80
	-
	The power level values are assigned such that entering conditions for event B2 are satisfied.

	
	RSRQ
	dB
	[-20]
	-
	

	
	Srxlev
	dB
	26
	-
	

	
	Squal
	dB
	0
	-
	

	
	Noc
	dBm/15kHz
	?
	-
	

	
	CPICH Ec
	dBm/3.84MHz
	-
	-72.3
	

	
	CPICH_Ec/Io (Note 1)
	dB
	-
	-12.3
	

	
	Ioc
	dBm/3.84MHz
	-
	?
	


	
	Parameter
	Unit
	Cell 1
	Cell 8
	Remark

	T2
	Cell-specific RS EPRE
	dBm/15kHz
	-60
	-
	The power level values are assigned such that leaving conditions for event B2 are satisfied.

	
	RSRQ
	dB
	[-5]
	-
	

	
	Srxlev
	dB
	55
	-
	

	
	Squal
	dB
	15
	-
	

	
	Noc
	dBm/15kHz
	?
	-
	

	
	CPICH Ec
	dBm/3.84MHz
	-
	-83.5
	

	
	CPICH_Ec/Io (Note 1)
	dB
	-
	-23.5
	

	
	Ioc
	dBm/3.84MHz
	-
	?
	


1.3 I-RAT E-UTRA/GERAN test cases

1.3.1 Test case 6.2.3.1a Inter-RAT cell reselection / From E-UTRA RRC_IDLE to GSM_Idle/GPRS Packet_Idle (Squal < ThreshServing, LowQ, Srxlev > ThreshX, LowP and Srxlev > ThreshX, HighP)
Preamble:

· UE is in state Registered, Idle Mode (state 2) on Cell 1 (serving cell) according to [18].
	
	Parameter
	Unit
	Cell 1
	Remark

	T1
	Cell-specific RS EPRE
	dBm/15kHz
	-70
	SrxlevCell 1  >0

	T2
	Cell-specific RS EPRE
	dBm/15kHz
	-60
	

	T3
	Cell-specific RS EPRE
	dBm/15kHz
	-100
	

	
	 RSRQ
	dB
	0
	Make SqualCell 1  < threshServingLowQ

	
	Qrxlevmin
	
	-110
	

	
	Q-QualMin
	dBm
	-20
	

	
	Noc
	dBm/15kHz
	
	No need to configure

	
	threshServingLowQ-r9
	
	TBD
	SIB 3:

Squal[0-[-20]) < ThreshServing, LowQ is not satisfied for default in 36.508 [3 dB]. The value needs to be specied to a value >= 26 dB 

	Note:
Srxlev and Squal is calculated in the UE.


	
	Parameter
	Unit
	Cell 24
	Cell 25
	Remark

	T1
	RF Signal Level
	dBm
	-80
	OFF
	SrxlevCell 24 > 4[threshX-High]

	
	C1*
	dB
	21
	N/A
	

	T2
	RF Signal Level
	dBm
	OFF
	OFF
	

	
	C1*
	dB
	N/A
	N/A
	

	T3
	RF Signal Level
	dBm
	OFF
	-80
	SrxlevCell 25 > 4[threshX-Low]

	Note:
C1 is calculated in the UE.


1.4 I-RAT E-UTRA/C2K test cases

1.4.1 Test case 6.2.3.8a
Inter-RAT cell reselection / From E-UTRA RRC_IDLE to HRPD Idle / HRPD cell is lower reselection priority than E-UTRA (Squal < ThreshServing, LowQ and Srxlev > ThreshHRPD, LowP
Preamble:

· The UE is in state Registered, Idle mode (state 2) on Cell 1 (serving cell) according to [18].
· Table 6.2.3.8a.3.2-1: Time instances of cell power level and parameter changes
	
	Parameter
	Unit
	Cell 1
	Cell 15
	Remark

	T1
	Îor/Ioc
	dB
	-
	-20
	Cell 15 is on

	
	Ioc
	dBm/ 1.23 MHz
	-
	-55
	

	
	Pilot Ec/Io (Note 1)
	dB
	-
	-20
	

	
	Cell-specific RS EPRE
	dBm/15kHz
	-70
	-
	SServingCellof the E-UTRA > ThreshServing, LowP and Srxlev,HRPD of Cell 15 < ThreshHRPD, LowP 

	
	Srxlev (Note 1)
	dB
	40
	-40
	

	
	Qrxlevmin
	
	-110
	
	

	
	Q-QualMin-r9
	dBm
	-20
	
	

	
	Noc
	dBm/15kHz
	
	
	No need to configure

	
	RSRQ
	dB
	0
	
	

	
	threshServingLowQ-r9
	
	TBD
	
	SIB 3:

Squal[0-[-20]) < ThreshServing, LowQ is not satisfied for default in 36.508 [3 dB]. The value needs to be specied to a value >= 26 dB

	T2
	Îor/Ioc
	dB
	-
	-5
	Increase pilot power of HRPD cell such that SnonServingCell,HRPD of Cell 15 > ThreshHRPD,LowP

	
	Ioc
	dBm/1.23 MHz
	-
	-55
	

	
	Pilot Ec/Io (Note 1)
	dB
	-
	-6.2
	

	
	Cell-specific RS EPRE
	dBm/15kHz
	-120
	-
	

	
	Srxlev (Note 1)
	dB
	-10
	-12
	

	
	Qrxlevmin
	
	-110
	
	

	
	Q-QualMin-r9
	dBm
	-20
	
	

	
	Noc
	dBm/15kHz
	
	
	No need to configure

	
	RSRQ
	dB
	0
	
	

	
	threshServingLowQ-r9
	
	TBD
	
	SIB 3:

Squal[0-[-20]) < ThreshServing, LowQ is not satisfied for default in 36.508 [3 dB]. The value needs to be specied to a value >= 26 dB

	Note 1:
This parameter is not directly settable, but is derived by calculation from the other parameters set by the SS.

Note 2: Default value of ThreshServing, LowP is 0.


1.4.2 Test case 6.2.3.10a
Inter-RAT cell reselection / From E-UTRA RRC_IDLE to 1xRTT Dormant / 1xRTT cell is lower reselection priority than E-UTRA (Squal < ThreshServing, LowQ and Srxlev > Thresh1xRTT, LowP)
Preamble:

· The UE is in state Registered, Idle mode (state 2) on Cell 1 according to [18].
· Table 6.2.3.10a.3.2-1: Time instances of cell power level and parameter changes

	
	Parameter
	Unit
	Cell 1
	Cell 19
	Remark

	T0
	Cell-specific RS EPRE
	dBm/15 KHz
	-75
	-
	The power levels are such that camping on Cell 1 is guaranteed.

	T1
	Cell-specific RS EPRE
	dBm/15 KHz
	-100
	-
	Cell 19 is on and SnonServingCell, of Cell 19 < Thresh1xRTT, LowP

	
	Îor/Ioc
	dB
	-
	-15
	

	
	Pilot Ec/ Ior
	
	
	-7
	

	
	Ioc
	dBm
	-
	-75
	

	
	Pilot Ec/ Io (Note 1)
	dB
	-
	-22
	

	
	Qrxlevmin
	
	-110
	
	

	
	Q-QualMin-r9
	dBm
	-20
	
	

	
	Noc
	dBm/15kHz
	
	
	No need to configure

	
	RSRQ
	dB
	0
	
	

	
	threshServingLowQ-r9
	
	TBD
	
	SIB 3:

Squal[0-[-20]) < ThreshServing, LowQ is not satisfied for default in 36.508 [3 dB]. The value needs to be specied to a value >= 26 dB

	T2
	Cell-specific RS EPRE
	dBm/15 KHz
	-120
	-
	Increase pilot power of 1xRTT cell such that SnonServingCell, of Cell 19 > Thresh1xRTT, LowP and SServingCellof the E-UTRA < ThreshServing, LowP

	
	Îor/Ioc
	dB
	-
	0
	

	
	Pilot Ec/ Ior
	dB
	-
	-7
	

	
	Ioc
	dBm/1.23 MHz
	-
	-75
	

	
	Pilot Ec/ Io (Note 1)
	dB
	-
	-10
	

	
	Qrxlevmin
	
	-110
	
	

	
	Q-QualMin-r9
	dBm
	-20
	
	

	
	Noc
	dBm/15kHz
	
	
	No need to configure

	
	RSRQ
	dB
	0
	
	

	
	threshServingLowQ-r9
	
	TBD
	
	SIB 3:

Squal[0-[-20]) < ThreshServing, LowQ is not satisfied for default in 36.508 [3 dB]. The value needs to be specied to a value >= 26 dB

	Note 1: This parameter is not directly settable, but is derived by calculation from the other parameters set by the SS.
Note 2: Default value of ThreshServing, LowP is 0.


